Math 202 — Quiz 3 (Term 132,
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Problem 1 (3 points):

Check that y, = cosh3x and v, = sinh3x form a £

amental set of
solutions to the differential equation y” — 9y = (.
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Problem 2 (2 points): Find, by Inspection, a particu!

“solution of the
differential equation

Y+ 2y = —4x :
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Problem 3 (5 points):

a. Check that y; = Inx, x > 0, is a solution of the dif! rential equation

xy'+y' =0
Sol\. Al _ A 1
: 13"\ o \éﬁ &
\ _L,_ - w,_‘_.. 1- =0



b. tse e Judichon of gr medhod bs %@g o
Secsnd Lr\;l.mf% Ll fenolwl" Sel.wl—l:m

A'V\SVJ&\.

‘/Qz}-l S (\i\l\jq}:[l OLKA ‘exs\,\ctl\.uv\ oS

" o g Rafe 5
o
solu o s /\6 = e 4 Such dhah
2

So, o Se cond

é—g?u)da( i
U\L')t) = & T’— M ; ?UL)'S —;Z
A
ez Don % A Ik
- /‘E—_/_,,—G\’)L = /’—_—_"L
(/gm %)1 %L\N\X)
dat
T—% W & ke U= /QN\”L Hwe =0 o
- ¥ ask e
T




